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1.A customer has a requirement for 250,000 IOPS and 200TB of capacity. The customer requires IBM
SSR code upgrades at no additional charge.

Which solution should the technical specialist recommend to the customer?

A. IBM DS8886 with 1.2TB drives and HPFE

B. IBM Flash System A9000 with 3.6TB Micro Latency modules

C. IBM Flash System V9000 with IBM Storwize V5010 with 1.2TB drives

D. IBM Storwize V7000 with 1.2TB drives and 800 GB SSDs

Answer:A

2.Which IBM function provides a high availability feature with dual-site, active-active access to a volume
in IBM Spectrum Virtualize?

A. Hyper Swap

B. Remote Mirror

C. Flash Copy

D. IBM Hyper-Scale Manager

Answer:A

3.What does IBM require to verify a customer’s environment before installation of an enterprise tape
library?

A. Technical and Delivery Assessment

B. Techline Solution Review

C. Butterfly Study

D. Product Installation and Planning guide

Answer:A

4.A security policy for a customer specifies a need for similar methods to manage encryption keys for disk
and tape storage. A recent proposal includes the IBM TS4500 and IBM Storwize V5030.

Which solution should the technical specialist highlight?

A. IBM Enterprise Key Management Foundation

B. IBM Security Key Lifecycle Manager will manage keys for both products

C. Enterprise Secure Key Manager

D. IBM Spectrum Control will manage encryption for both products.

Answer:B

5.A customer has a two-frame IBM TS4500 Tape Library with 24 IBM TS1150 drives. The L frame is the
left most frame and the customer wants to add slots for 1100 cartridges. The available physical space in
the data center is limited, so high density (HD) frames are needed. The customer has some existing IBM
TS3500 storage frames that could be re-purposed.

What does the customer need to understand about the upgrade?

A. Aredeployed IBM TS3500 storage frame must be the last (right-most) frame.

B. The IBM TS3500 storage frame must be upgraded with TS1030 tape drives before it can be
redeployed.

C. An IBM TS3500 storage frame must be upgraded to an IBM TS4500 frame before it can be
redeployed.
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D. The IBM TS3500 storage frames must be installed to the right of the L frame.
Answer:D
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